10742 ’\zz~4 A #iﬁé i zrzw

Ao

Ry

n’g

) '—!’ 7 7= » ) » ~ m
«'jiﬁﬁﬁ'f/‘}ﬁ}/\ﬁfgéggg h
FoR ou ML R

Wiz EgR

N SRS L

ﬁﬂ. B . %ifii‘@f'}i;}%? (é?a[éit_‘zif«gi‘éd,'}i;};’ ’?ﬁ)

XLRE (—)” PR I

2:\/»3!/{2’ I'E‘Lé]:'l“—? %—Fé%\{gﬁii gﬁl;p{énlg};a L__Féé 3 ’yl\ﬂ\Fé‘iﬂ" ]‘E‘gﬁ s H R A o
(_)j‘ﬁig ?.E;F’a -3 ﬂ’\‘ﬁﬂgé Ok B AR FITE o

O /F'JF%W%? i % R ’?EF’”‘“"H@%?\ i8Rl

6

&

> (—)éﬁ—éﬁlﬂg P8 4 id # % (scintillation counter ) 1 1% i J2 2 [P M4 B fd 5F 22 4544 - (10 4 )

A IIE T L p eSS B

»%%8,( quench )

iR B R A R R SR 3 1T 1 (5 )

S~ O)% de Cs-137 R SRCBE R 5 3700 Bq o & ERLE BB S A 4 9 3
180,000 counts > # "% 5t ik {4 & A3+ 5 10 4 4817 2] 15,000 counts > 3 F-3%7 I 3+

® et s o [Cs-137 2
)1 14 R £ $— % HsHR o RE
3] 10,000 counts o & Frdd 3k
2 Bg/em® > 32t B gt 2 484005 AR R (

FFP'ﬁ

—1‘#

i

~H%&éwﬂﬁ>@ﬁﬁﬁﬁﬁﬁ’@%

E’,Tf’f-‘%'? D ik o Fﬁ%gﬁﬁ,?’mtbé [ER=
O ik 5 2 R PFaig s417 0% % 32 4R T
RIFE R & Z788 3 p 2 (54)

CEE&EET L0 STz F b4 ﬁ:’{dy'
7% » F3t B 4 1R SO s S R

7.038 x 10 £ 4.468x10° &) (10 » )

F“

QEEN \3“‘
=S
&5 L FEF'& Tt 0 i F
ERYRE 2 (64)

?X, Tl/2 =8=

Y
\
\ N
\70%
N\

30% A

lfr » e lf'% AmY ’;iﬁfﬂ"/"é’f‘i?

O%’

R

SIS RN f“"'%\ AX’f‘—"AmY%{'&”]"/r')iLL *

662 keV be B EATEF S 90%]) (5 4 )

% FY

<
/J-
==

=)

(54)

i
Bl ]

/F’Jvé" l%’* ‘LF]WHBJ??B??LPQ 5 &
B A5 25 cm’ qf/54
Bq/cm )T EE E—f”",ﬁ? a7

(vﬂm

B

TS T R L R SRR 2 Al

EHMY 57 (5/,7\)

&*ﬂi%ﬂwa BN 2 R

SRS

% ¢ 4235 2245238 FinE e w5 3%
? [4$-235 frdh-238 X

-

f‘ﬁﬂlv\‘%'lp

1
Yo

_—

s - BAHEA TG A R E AX O i AX % % B (decay scheme) 4T o

v

51
Eho* o (64)
i HRAER W b 3

> (8 4)

> e Am A
byt pE Y X

*AmY T _1;§

Z+1 12




1074 23k 4 R B MR o R
LN = SR I a1 107& E3JE . ~EL L 10670

IV ”g’gi;i;f{ AN R B A+ -
LR W I MAaA AR

E S ooz EAR

) FoUfpsE 2L AR

L BolRdsti e o(f B2 R sty )

Ao~ R ERET G R O3 — 1000 A (Cl)m6OCO B 54 R 0 R RE T RLEE B3R 06 A Eu;% T3 o

PR RS B (LK ST o8 HEFIHE 2) IEREMIR S 42 5 | r T

B T=1/4> 1% FlEcU=1o

RFFERBRIBEFEAERICF R I ] P EFREHPES 2EES TF
R e ARERgLHETRD (104)

OF LRt B0 RE- K AR L0 24 g (X5 105 24 - 24 )
i‘%}\éilﬂ% ) o R R 3 Ei-']jr}%_}'ﬁv ﬁﬂ,}g\ L5 o 9 [6OCO H
I'=3.7x10*" mSv'm’ ’MBq-h; 4:2 & % 11.3 g/em’] (5 4)

=P - P AR A ARG RERES BT RS FREY 2
2x10% em? s P F s YAy A &Y FOBRP- TR
e P18 OTA BEE R S 36,000 B R MESY ARE R
VA2 ALRE L 30%: PAcf? 3 F Bia 5 1328 ;%A L %
L imf+ £ 5 504] (10 4)

?AJK (\&

NI A RSP B P EA N D LB D074 K
FERY AR P A 5 1135 P B B PR A e i B idAp b kit
B e
ORFPBAfBSLRH LN E 5L FE? (5A)

% 60 1 PF > % B PAEATPABARMERY B 52 (54)



